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Equation of a Circle - Skills

1) find the centre and radius of each of the following circle equations

a) x% + y? = 36 b) (x+2)? + (y+5)? = 64  ¢) (x-D? + (y+7)? = 25

d) (x-2)2 + (y-5)2 =49  e) (x+3)? +y?> =16 f)x?>+y?>+10x +8y-40=0

2) Find the equation of each circle below in the form (x -h)? + (y - k)? = r?

a) Centre = (8, 7) Radius = 3 b) Centre = (-6. 2) Radius = 10

c) Centre = (-3, -5) Radius = 12 d) Centre = (-05. 3) Radius = V3

e) ) f) .
-5-4-3-2-1_1[12345 &;/zsqs;

3) Draw the following equations on the on the cartesian grids below

a) x?+y?>=25 b) (x - 1%+ (y+2)°=4
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Find the asymptotes and the x & y intercepts to match each equation to its graph.
x%-x—6 x%—x—6 x24+6x-7
x2+7x+10 —-x%-7x-10 2x2+8x—42

x—3 (x+2)(x—1)(x+4) 2x°+12-14
x2+4x-21 (x—3)(x+2) x2+4x-21

25

20

___________________________________

N Ea EEE EEE N N N EEE EEE EEE BEN EEN DI DEN DG DN DN BEN BEE BEN BEN BEN BEN DEE BEE BN EE BEE BEE BEN BEN BEN DEE DEE BEE BN NN Bae Eam Eam mm mm e



